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QUESTION 1

Which three statements are true regarding PeopleCert user-defined variables? (Select three.)

A. Explicitly declaring object type variables provides no benefit over allowing them to be auto-declared
B. All local variables must be declared at the beginning of the program

C. Local variables can be declared and instantiated in a single statement

D. All component variables must be declared before the first line of executable code

E. Local variables can be declared and assigned in a single statement

F. All variables of type Any must be explicitly declared

Correct Answer: D

QUESTION 2

Which two statements indicate the actions that need to be taken before changing the default field label on a field
definition? (Choose two.)

A. Check if the default label is used in any page definitions

B. Check if the default label is used in any record definitions

C. Check if the default label is used in any component definitions
D. Check if the default label is used in any PeopleCode

E. Check if the default label is active

Correct Answer:. AB

QUESTION 3

Examine this PeopleCode program excerpt:

&Row_Lewvell = &RS_Levell (&I):
aRec Empl = &Row Lewvell.EMPL;
&Fld Rolae = sRec Empl . ROLE;
&Pos = &Fld Role.Valus;

Select the option that correctly combines these four statements into one valid PeopleCode statement.
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A, &Pos = sRow_ Levell (Record.EMPL) .ROLE.Value;
&Pos = &RS_ Levell (&I) .EMPL.ROLE.Value;

C. spos = SRow_Levell(&I) .EMPL.ROLE.Valus:
&Pos = gRS levell . .Row ILeavell.Rec Empl.ROLE.Valus;

E. spos = &8RS Levell.&I.EMPL.ROLE . Value;

A.B.C.D.E.

Correct Answer: C

QUESTION 4

This exhibit shows the Structure tab of the component definition.

[&F Psu SOURCES (Component)
. S TASK TEL (Tabla) - Search Record
- Scroll - Lavel O
- PSU_TASK_TBL (Table)
- Scroll - Level 1 Pamary Record. PSU_TASK_RSRC
= %4 PSU_TASK_RSRC (Table)
e TASK (Record Field)
ke RESOURCE_MNAME (Record Feeld)
$% INSTRUCTOR (Record Field)
& PHOMNE (Record Field)
& PCT_AVAILABLE (Record Field)
& COMPLETED_FLAG (Record Feld)
- DERIVED_TRAIN (Denved)
= Scroll - Lewvel 2 Prmary Record: PSU_TASK_EFFORT
= $ks PSU_TASK_EFFORT (Table)
e TASK (Record Feld)
e RESOURCE_MAME (Record Field)
<ie EFFORT_DT (Record Feld)
$% EFFORT_AMT (Record Fielkd)
& CHARGE_BACK (Record Fisld)

The following PeopleCode program has been placed on the Rowlnit event for the Level 2 component record
(PSU_TASK_EFFORT)

If PSEU TASK RSRC.COMPLETED FLAG = "¥Y"™ Than
Local Record &Rec TaskEffort = GactRecord() 7

For &i = 1 To &Rec TaskEffort.FieldCocunt
&Rec_TaskEffort.GetField(&i) .Enabled = False:
End-Forj;
End-If:

Which three changes are required to move this program to the RowlInit event for the Level 1 component record
(PSU_TASK_RSRC)? (Choose three.)
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A. Add an outer loop to loop through each row in the level 2 rowset

B. Instantiate the level 2 rowset from the level 1 row

C. Add on outer loop to loop through each record in the level 2 rowset
D. Instantiate the level 1 row

E. For each level 2 row, instantiate a record object

F. Instantiate a record object for the level 1 row

Correct Answer: BCF

QUESTION 5
Iinput Output
Dr. Jane Smith, Ph.D. Dr. Jane Smith
Mark Larsen, B.A. Mark Larsen
Dr. Gustavo Hinojosa, M.D. | Dr. Gustavo Hinojosa
Vivek Patel, B.S. Vivek Patel
Jonathan Marsh, M.B.A. Jonathan Marsh

Which PeopleCode program will take the input student name values and produce the output values?

" &comma pos = Find(",", &student):

sout = Substring(astudent, 1, &comma pos — 1):;
B. sout = LTrim{&student, ","):
C ;

sSout = RTrim(&student, ","™)
D. _

&out = LTrim(&student, ", . ABDMPSh") ;
E. acomma pos = Find(™,"™, &astudent);

alength = Len(&student) ;

gsout = Substring(&student, 1, &length - scomma pos):
F. sout = RTrim(sastudent, ™, . ABDMPSh"™) ;
A.B.C.D.E. F.

Correct Answer: D
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